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1. Gilled students are .

() Introvert i nature

(2) Independent in theirju.dgcmcnt
(3) Non-assertive of their needs
(4) Compliant

In the classroom teaching children feel
more motivated when :

(1) They are given complex problems

(2) They feel Connected

to their real
world ;

(3) They are not questioned
(4) They are given easy problems

3. Out-of-the-box thinking is largely related
to: .

(1) Divergent thinking
(2) Memory-based thinking
(3) Convergent thinking
(4) Consistent thinking

4. Assertion (A): Socialization is essential
for a child.

Reason (R) : Socialization is a lifelong
process of transmitting and
disseminating norms,
customs and ideologies of the
society.

(1) Both A and R are true but R is not the
correct explanation of A
(2) A istrue but R is false
(3) Both A and R are true and R is the
correct explanation of A
(4) Both A and R are false
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Tnclusion of all children in edueation' ag
envisaged by RTE Act, 2009 is based on :

(1) A sympathetic  attitude
disadvantaged children

towards

2) A right-based humanistic perspective
(3)
4

To increase the school enrollment

Mainstreaming  disabled
through skill-based education

children

A teacher should design his/her pedagogy
according to :

(1) Own convenience
(2) General to specific

(3) Socio-cultural context of the learners

(4) Asper the examination dates

Critical pedagogy helps students to :

(1) Engage in the teaching—learning
process

(2) Challenge the set assumptions with
logic ‘ '

(3) Develop critical thinking

t4) All of the above

Find the correct match out of the types of
motives with examples given below :

A. Organic Motive 1. Aim of life
B. Social Motive 1. Award
C. Personal Motive III. Food
'D. Antificial IV. Honesty

A-1, B-11I, C-II, D-1V
A-lll, B-1, C-1V, D-11
A-ll1, B-1II, C-I, D-IV
A-111, B-11, C-1V, D-1
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9. "Mistake  teaches ndividun. i
statement is based on whicl, theory |
(1) Paviov's Classical C“"l“”(‘lning
(@) Thomdike's Trial and Error Theory
(3) Skinner's Operant Conditioning
(4) Piaget's Cognitive Development Theory
10. What is the word 'nature' in the nature-
nurture controversy ?
ature of the individua
(1) N f the individual
(2) The interplay of physical and social
factors
(3) The hereditary traits
(4) The environment around a child
11. Piaget proposes that cognitive development
universally follows four stages, in which
stage the development of obj_ect
permanence takes place ?
(1) Pre-cognition stage
(2) Sensorimotor stage
(3) Concrete operational
(4) Formal operational
12.  Which out of the following is the first step in
: b
the scientific method of problem-solving
(1) Formulation of hypothesis
(2) Verification of the facts
i the
(3) Awareness and understanding of
problem .
H information
(4) Collection and compiling of info
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A child learns most appropriately in an

environment in which :

(1) ‘There is strict discipline and order

(2) There is an availability of all the
technical gadgets

(3) The due weightage is given to the
child's emotions and experiences

(4) There are ample opportunitics to play

games

A teacher can be an effective teacher in
addressing  diverse having
children from different social, economic,
and cultural backgrounds by :

(1) Using modem technology in teaching

classrooms

(2) Asking multiple questions
(3) Understanding the diverse needs and
experiences of the children

(4) Segregating the children

In an advertisement, a woman is cooking
food in the kitchen and the man is watching
TV. This highlights the role of ............ as
an agency of ............ socialization.

(1) TV; Primary

(2) Media; Secondary
(3) Media; Primary

(4) School; Primary

The Functionalist Theory of social structure
is given by :

(1) Emile Durkheim
(2) Karl Marx

(3) Robert Stolle
(4) Max Weber
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18,

19.

Development of the indiy 1dunl ¢ InNuenced
(1) Environment only

(2) Hereditary and cnvironment both

(1) Hereditary only
(1) All of the above

A baby girl is commonly seen playing with
a doll / or a Kitchen set while a boy
would be found playing with toy cars and

oy guns. This is a prominent example
O s .

(1) Primary socialization
(2) Anticipatory socialisation
(3) Gender socialisation

(4) Secondary socialization

School-based internal assessment s

primarily based on the principle of :

(1) assessment should be economical

(2) students should get good grades at all
costs

(3) Teachers
students

(4) Teachers

capabilities better than the external

efficiently examine their

know  their  students'

examiners

20. According to B. F. Skinner language

development of a child takes place :

(1) As an outcome of inborn capability
(2) As an outcome of training in grammar
(3) As an outcome of imitation and
reinforcement

(4) As an outcome of maturity
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21,

22.

23.

24.

At the lower primary level, the play way
teaching method is based ON e

(1) Theory of physical education training
(2) Principle of methods of teaching
(3) Sociological principles of teaching
(4) Ps_\'chnlngical principles of growth and

development

of constructivism

Vygotsky's theory

implies that :

explanations teacher

(1) After initial
should ask the child to solve the
problem

(2) Child learns with individualistic
tutoring

(3) Child learns fast in group collaboration

(4) Child leamns best through rote
memorization

A child cannot distinguish between the words
‘bat’ and 'tab' and ‘nuclear’ and 'unclear’. It
means the child is suffering from :

(1) Word recognition disorder
(2) Dyscalculia ‘
(3) Dysmorphia

(4) Dyslexia

A progressive classroom views teachers

and learners as ............ .

providers; passive

(1) Knowledge
recipients of knowledge

(2) Dominant sources of knowledge;

subordinate participants
(3) Facilitators in learning; participants in
knowledge construction

(4) Dictators; followers of the teachers
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(1) A talented learner d, 8
(2) A creative learner
(3) A gifted learner

(4) A bright learner ) s z-rﬁrrwa - a3

26. Which of the following is most appropriate 26, Rt fear et J5 fuftt &9 faga
for Human Development ? ﬂé 3 aaet 3 7
(1) Quantitative _

. (1) H3I=3HI
(2) Qualitative @ @
(3) Unmeasurable (3) & HUECET
(4) Both (1) and (2) @ ()3 @)

27. Development generally proceeds from head 7. fexr v 39 '3 fAe I 09 3 JE
to foot; this principle of development is J: feam 2 fem fRU3 & fagr #fer
called ...oocvmues : o |
(1) Bilateral (1) € 33e"

(2) Proximodistal (2) Yarhifsres
(3) Cephalocaudal. . (3) ATBIATH
(4) General to specific (4) »™H 3 UH

28. The concept of 'Zone of Proximal 28. 95 e Jarvsg fsdouRe & s
Development' is given by : ' goaT st aret T ¢
(1) Piaget (2) Vygotsky (1) fimims (2) fedieratt
(3) Kohlberg (4) Erikson (3) TsEIA (4) efgans

29. Which of the following is a primary agency 29. I&t 3 T faozr fflx ¥ st
of Socialization for a child ? AHHIaEs & e yrendt Ay 3 7
(1) School (2) Market " (1) FgE (2) a7
(3) Class (4) Family () s () ufses

30, "Developgneni s a never-ending process” 30. “feam ffq ae & u3H J= @& yfafanr

I feg fegrg afar 3
(1) »urt RETT @ fAOS &
(2) Tdlaes @ AUz &8
(3) ygAuT ygI=e ¢ AU 5%
4) f5d3393 2 fAUiz &8

this idea is associated with :
(1) Principle of interrelation
(2) Principle of integration
(3) Principle of interaction
—_. (4 Principle of continuity ___—
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61. Choose the correct option to complete the 66. Choose hetween present simple or pre
following sentence ! continuous from the options for brack,,
e Sandwich isn't enough, | verbs in the following sentence
usually eat two or three. People (live) longer, and treatment [,
(1) The mare expensive.

(2 One ® (1) Live/is getting

(3) An (2) Live/ get

(4) None of the above V' ,
(3) Are living/ getting

62. The theory of Transformational Generative (4y Are living/ is getting
Grammar is contained in :

' : 67. oooorioeerren is @ term  that denotes
(l) ChomSk}’SSJfﬂfacrfC Structures historica] perspective for Stlld)’iﬂg
(2) Chomsky's Aspects of the theory of language.
Syntax Choose the correct option to fill in the
blank : -
(3) Neither (1) nor (2)
(1) Synchrony
(4) Both(1)and (2) ' (2) Diachrony

63. Choose the correct option to complete the (3) Both (1) and (2)
following sentence : (4) None of these
Karen and I are very good friends. We've
KNOWR .. ot vreenmsesaner. fOT B lONG times 68. Choose the correct option to complete the

’ following sentence :
(19 each other (2) ourselves »

The BOSS +veeisnsiesensennees Me€L the visitors
(3) yourselves (4) themsclves for coffee at 11 : 30. She wants to know if
: you'd like to come along.
64. ..ocreiiees is @ method of  word ) _
" formation whereby one or more syllables (1) will (2) will be
are removed from longer words. (3) isgoingto  (4) was going to
Choose the correct option to fill in the
blank : 69. Choose the carrect option to decide which
tense to put bracketed verbs into the
2 (1) Portmantecau (2) Onomalopoeia following sentence
(3) Clipping (4) Metanalysis Well, I got on better with David really. Last
time we (stay) in London we (share) a flat,
65. Choose the correct option to complete the because Ben (go) to America. -
following sentence : (1) Stay/ share / gone

Pedro was so short, he couldn't see
serneesennnes the steering wheel.

(1) over (2) across
(3) between (4) through

PAFPER-1 ﬁi

(2) Stayed/shared/went
(3) Stayed/shared/had gone
(4) Stay/share/had gone
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Phonological awareness refy

1 s
S 1o the abiliry

( reflect  and - manipylage

structure the

Sound
Qy speak fluently and accurately

@3) know, understand ang Write

(4) master the rules of grammar

which of the following
apl:,mpriale method to monite
of children with learning disa

15 the most
rthe progress

bilitics 9
(1) Case-study
) Anecdotal records
(3) Behaviour-rating scale
(4) Structured behavioural observation
72. Choose the correct option to complete the
following sentence :

Richard didn't help me. He sat in an

armchair and ........cceevvevvviveennnnenn, nothing.
(1) do (2) doing
(3) did (4) done

Read the passage carefully and answer the
questions (73-80) that follow by choosing the

best alternative :

Firefighters are often asked to speak to school and
wmmunity groups about the importance of fire
wlety, particularly fire prevention and detection.
Because smoke detectors reduce the risk of d),i.ng
2 fire by half, firefighters often provide
Wdiences with information on how to install these
Wisctive devices in their homes. "
&Mﬁ““)', they tell them these things : A ;m:n:
lor should be placed on each floor of 2 or of
“‘s“‘epin le are in particular anngF
g peop detector
Wergent fire, and there must b¢

- d site for ?

5&‘ Would be:a hallway that
i

' *aces and bedrooms-

B

Necanse of the dead-air apace that might be missed
by turbulent hot alr houncing around above a fire,
smoke detectors should he inatalled cither on the
ceiling at least four inches from the nearest wall, or
high on a wall at least four, but no further than
twelve, inches from the ceiling.

Detectors should not be mounted
exterior doors, or other places where drafts might
direct the smoke away from the unit. Nor should
they be placed in kitchens and garages, where
cooking and gas fumes are likely to cause false

alarms.

near windaws,

73. Choose most suitable title for the passage

from the options given below :
(1) Hierarchical Order of Firefighters
@

Comparison-contrast of Firefighters
and General Community

(3) Responsibilities of Firefighters

(4) Responsibilities of School Kids

74. What is the main focus of this passage ?
Choose the correct option :

()

The detection of dead-air space on
walls and ceilings

(2) The proper installation of home smoke
detectors

" (3) Both(1)and(2)
(4) None of these
75. The passage implies that dead-air space is
most likely to be found ..................... .

Choose the correct option to fill in the
blank :

(1) Outside the house.

(2) Close to where a wall meets a ceiling.
(3) Near an open window.

(4) In kitchens and garages.

P.T,O,




76.

77.

78.

79.

PAPER-I

The passape
people who Jo not

states that, compated with

have smoke detectors,
in homes with smnoke

persons who live

detectors have d

Choose the correct option :

(1) S0% better chance of surviving a fire.

(2) S0% better chance of preventing a fire,

(3) 75% beticr chance of detecting a
hidden fire.

(4> 100% better chance of not being
injured in a fire.

A smoke detector should mot be installed
near a window, becausc :

(1) Outside fumes may trigger a false
alarm.

(2) A draft may create dead-air space.

(3) A draft may pull smoke away from the
detector.

(4) Outside noises may muffle the sound
of the detector.

The passage indicates that one respons ibility
of a firefighter isto © '

(1) Install smoke detectors in the homes of
residents in the community.

(2) Check homes to see if smoke detectors
have been properly installed.

(3) Develop fire safety programs for

community ¢ leaders and school
teachers.

(4) Speak to school children and
community ~ groups  about - the

importance of preventing fires.

A smoke detector must always be placed :

(1) Outside at least one of the bedrooms
on any level of the home.

(@) Outside all bedrooms in a home.
(3) Outside the windows.

(4) In kitchens where fires are most likely
to start. b

Eal

(16)

B]

l‘lr\.
h ntion (the ward hna heen ’<|l(|“'fll rr“m
e I\{l ‘-i;|u‘4'

RO, ¢
hoote the earreer antanym far -

(1) Stoppage (D Avoidance

”} Hindrance (L Aggravation

Read
'llll‘:lin':: ”l“;“;:z(‘ carefully and answer the
ho““"‘"‘natiw':’ that follow by chaoosing the

I'he phone rang on Dr. Allen's desk.

"l' e 4 5 :

| ‘c_”.f" she said, picking up the phone. "Dr. Allen

ere.

"Oh, good morning, Dr. Allen,” a voice said. "It's

Jenny Anderson here, Professor Smith's secretary.
It's about that meeting on Monday. You are
definitely coming, aren't you 7"

"The meeting. Yes, of course,” Dr. Allen said,
looking in her diary. "It's at eleven, I see.”

"Well, no. We had to change the time,” Jenny
Anderson said. "It's going to be at twelve. I'm sure
I told you."

"But I've got a lecture at twelve," Dr. Allen said.

"But surely you can cancel your lecture — just for
once," Jenny Anderson suggested. "The meeting's
very important, as you know."

"I've never cancelled a lecture in my life,"
Dr. Allen told her. "Sorry!" There was a silence.
"However," she went on, "['ve got an idea. I've just
got a new cassette recorder — rather a good one, in
fact. I'll record my lecture beforehand — and then be
able to come to the meeting."

nWonderful," said Jenny Anderson. "T'll tell
Professor Smith you'll be there, then."

At five to twelve on Monday moming Dr. Allen
went along to the lecture room. There were about
twenty students waiting there for her. "I'm sorry,"
she told them, "l won't be able to give my lecture
today." The students looked sprprised. Dr. Allen
explaincd that she had an 1mportant meeting.
"However," she went on, "although 1 can't be with
you myself, my voice can!" She gestured towards
the cassette recorder on the table. "You see, l've
recorded my lecture and you can listen to it while |
go to my meeting. So, In a way, I'll be in two places
at once! One of the miracles of modern science!”
Feeling rather pleased with herself, Dr. Allen
switched on the cassette recorder and left.

The meeting in Professor Smith's office finished a
little early, SO Dr. Allen decided to go back to the
lecture room. She stood for a moment outside the
door, listening 10 her own voice. Then, very



Cehe h'\pﬂl\ll the oy

ﬂ‘wh\;ﬂ‘ emply I then I:; ?IH YT v, (e
e A namber ol sal) tnwt.;: ""_ od hrr;\m:l
‘hraahl}l“"‘ het lecture! Ereconidere Ml
“::‘ » ghe tht-ug!n, "I can be i

:‘t‘.!‘t‘ enn they ! N IWO Maces at

Choose the right

sl. Incnning fOl’ the word -

Beforehand
W Left-hand

= (2) F;H'l”ct
(3) Gestured

(4) Cancelleg

Choose the right meaning for the woy |-
Miracle -

2.

(1) Wonderful event (2) Recorder
(3) Lecture (4) Diary

Choose the words or ph
: : rase
pronoun in Italics : ", R o dhe

Dr. Allen 100K if to the lecture room.
(L) The Cassette Recorder

(2) The Phone

(3) Her favourite note-book

(4) None of the above

84, Who was Jenny Anderson ? Choose the

correct option !

(1) Professor Smith's Senior

(2) Professor Smith's Colleague
(3) Dr. Allen's Secretary )
(4) Professor Smith's Secretary

85. Fillin thq blank from the options below :

Jenny Anderson suggested that Dr. Allen
Should .........i5ssessesenens O lECHUIE.

(1) Cancel (2) Pre-pone
(3) Post-pone (4y Deliver on time

Choose the correct option to complete the
sentence with the idea from the passage :

Dru Allen lhOUglll that ..u...u-------------nnc”'
but instead it was at twelve.

(1) the meeting was at nine

(2) the mecting was at ten

(3 the meeting was at cleven
~—__(4) the meeting was at eleven thirty

(ry i

1.

88.

89.

90.

Clwie the earprert aption tn enmplete the
centence with the iden from the paanage

However, D Allen went o the wlagaroam

and tried o explain o the stisdents,
o

L]

this

i)

(1y ['ve recorded my lecture an
cassette recorder, so you'll be ahle
listen 0 my lecture while | go to the
mecting,

I've cancelled today's lecture hecause |
have a meeting to attend.

I've cancelled today's lecture because |
am not feeling well.

['ve cancelled today's lecture because I
have not prepared it.

(2)
(3)

C)

Choose the correct option to complete the

sentence, using the words from the
passage :
Can [ BOITOW YOUT ...ciummersrisannsssssncansasssasess =
[ Want 0 -..ccccerrsiisrnsnsessnsansss some music for
the party,

(1) Video recorder/listen to
(2) Cassette recorder/record
(3) Both (1) and (2)

(4) None of the above

Children acquire gender roles through all of
the following, except :

(2) Culture
(4) Media

(1) Socialization

(3) Tutoring

Choose the correct option to complete the
following sentence. Keep in mind the

words in the brackets are to be added where
necessary,

Since her accident, Mary has tried to lead
s POSSible (normal/life).
(1 as...as :

(2) notas ...... as
(3) such....as

(4) so....asto

MPER.T

PO,
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PART-IV / 331y

£

e ———

91.

A person's present age is two-fifth of the
age of his mother. After 8 years, he will be
one-half of the age of his mother. The

- present age of mother is :

92.

93.

94.

PAPER-]

(2) 36 years
(4) 48 years

(1) 32 years
(3) 40 years
According to NCF 2005, teaching and
learning methods  in Mathematics  at

primary level should focus on :
(A) explorations of various patterns in

mathematics
(B) developing the skills of estimation and

approximation among learners

(C) Informal ways of learning like games,
solving puzzles etc.

(D) rigorous problem solving

The correct option is :
(1) (B),(C)and (D) (2) (A),(B)and (D)
(3) (A),(B)and (C) (4) (B)and (D)

Given the measure of three sides of a
triangle, find out which triangle can be
formed ?

(1) 6cm,4cm,5cm

(2) 3cm,6cm, 10cm

(3) 3.5cm,6.5cm, 1l cm

(4) 2.5cm,8.5cm,5.5¢cm

36 men can complete a piece of work in 18
days. 27 men can complete the same work
in:

(1) 12days
(3) 22days
The LCM of two numbers is 48 and the
numbers are in the ratio 2 : 3. The sum of
these two numbers is :

(n 28 2 32

(3) 40 (4) 64

(2) 18days
(4) 24days

L.

2~
S

91.

92.

93,

94.

60 foradh & fger Ga e o
. v E-URR foRr 31 8 AT amie,
5T WA i Gy T o § e
Wﬁ}@?@“ﬁﬁ:

() 327 @) 367

(3) 407 (4) 487

NCF 2005 ¥ ngamg, yfendl vud '3

(A) 9fe3 fo'g Tu-2y dedat & °F

(B) fRfimiraingt fe'g wiemr Zar@e i3
NEHS BBz ¥ gad € fea™H IIa&T

(C) fAyz ¥ Jg-gmit sdd e ust,
g3 § T 35 nffel

(D) AY3 AKTANT T T8

Fat feamy 3 :

(1) (B),(C)"3 (D) (2) (A),(B)"3 (D)

Q) (A), (B)n3(C) (4) (B)n3 (D)

ftg fqgm @ fis wfet ¥ Wy @
Woawe, uzr ®arg fa faoar fygw &€
Rae & 7

(1) 6 M, 4 i, s i

(2 3 i, 6 i, 10

(3) 3.5, 6.5 P, 11 Y

(4) 2.5, 8.5 M, 5.5 it

36 mrit 18 fest 9 ffa @ yar ad
Fae 751 27 wrodt fed an § uar a9
Fae 05 -

1) e () 18 few @9

(3 2fEe @ 24 fen &9
éM?’LCMHﬁM@'ﬁfﬂmﬁ’_’
2.3 ¢ nmu3 9 T4 feas ©
At & 77 3

(1) 2% 2) 12

3) 40 (4) 64
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98.

99.

100,

101,

i

o ol
ris ’

(2) §
4 10
The product of twg Numbers g
quotient, obtained by dividiné

onc With the smaller e is 1§
sum of numbers s -

(1) 380
(3) 400

The averape of
pumbers is 61

five
The UilYey
highest and loweg Nim e
(n 2
() 18

COngeq Wive

the larger
» then the

(2) 395
(4) 425

Identify the pattern and fj|) in the blank :
317x3=111

37x6=222

37 x9=333

k7 T S =444

(1) 12 (2 10
3) 5 4) 27

A cylindrical pencil sharpened at one edge
is the combination of : '

(1) A cone and a cylinder

(2) A hemisphere and a cylinder

(3) Two cylinders

(4) Frustum of a cone and a cylinder

The least number which when doubled will
be exactly divisible by 12, 18,21 and 30 s :
(1) 196 (2) 630

(3) 1260 (4) 2520

If one angle of a triangle is the sum of other

. two angles; then the triangle is :

(1) An isosceles triangle
(2) An obtuse triangle
() An equilateral triangle
(4) A right triangle

g

PAPER.y
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94.

9?!

98.

99,

100,

101.

ﬁ‘:’ﬁ,afﬁg-_maa n

sty it 2t Aot S atrs 61 3
r ¥ @t wy ¥ urz Afor 28
waa d
() 2

3) 18

() 8
(4) 10
3 Fifiyrzt o qEAEs 9375 31 TB 5 22
e g a@d Yy a3 FaEE 15 3,

feg Fiftoyret e A7 3 ¢

(1) 380 @) 395

(3) 400 (4) 425

deas o ugtE a9 n3 wEt 8@ 39 ¢
37x3=111

37 x 6 =222

37 x 9=1333

37X veveens =444

() 12 2 10

3) 5 4) 27

() & Joae m3 fea Iwe

(3) B3I

(4) féx da & greH w3 fEa Iz=
fora3n Aftmr 7 Tt 92’3 12, 18, 21
n3 30 &% Yt Igt IIThar I

(1) 196 (2) 630

(3 1260 (4) 2520

Aog ffx fgn o i &= e @ ast e
(1) fés muefeay fisw

() f&a niftx a= fggw

(3 fgam@?—[ﬁg}r

4 fEx maz fggw

P.T.0.




102,

103.

104.

105.

106.

107.

PAPER-1

The number of lines of symmetrics of a

square is
(H 1 (2 4
3 3 @) 2
Let AB||CD and EF is transversal :
B
1
A 2 B
Ao
e 57\ D

6

r
Which of the following is not true ?

M 2= @) [1+)2=180°
(3) [I+14=180° (4) [2+]4=180°

Which activity would best develop a
student's reasoning skills in geometry ?

memorizing geometric formulas
solving multiple choice questions
copying solutions from board
justifying why two triangles are
congruent using geometric postulates

(1
2
3)
C)

On subtracting 23 hg 76 dg from 79 hg 85

dg, we et .....cerunee hectograms.
(1) 5.6009 (2) 560.09
(3) 5600.9 (4) 56.009

The missing number in the sequence 8, 24,
12, 36, 18, 54,
(1) 274

3) 72

(2) 68
(4) 108

Which of the following is true ?

(1) Every integer is a rational number

(2) Every whole number is a natural
number

Every rational number is an integer
Every real number is a rational number

%

(&)
C))

(20)

102,

103,

104,

105S.

106.

107.

B

Ma wagr & et ot gzt
Fifkpor
(1 1
3) 3

V& fa AB||CD w3 EF Zir=ans 3

E
3%'
Ao
C 5.7 \4

//6
F

I fafmit fes* faazr AY 397 9 ?
(1 [2=3 (2) p+)2=180°
(G) [1+]4=180° (4) [2+]4=180°
faadt aSifedt fGhedt feg fefenradt
¥ 399 ¥ U&9 & RS I U feams
Fqatt ? :
(1) frbhfea eoyd & wre a9
(2) TU-9E TB AIH TS AT
(3) 893 T TH T 539G AIST
@) feg 1 sfoe@s fa © f3=+
‘ UAgder & 93 &9d

feamrg fa@ o5
79 hg 85 dg 3 23 hg 76 dg & we8T '3,
A fieer 3 L. JIEIHI

(1x 5.6009 () 560.09
(3) 5600.9 (4)- 56.009

JH 8, 24, 12, 36, 18, 54,
Afar 30 .

oy 27 (2) 68

(3¥, 72 (4) 108

It o3 fe9 faoar AT 7

(1) 9 u3s wia fe'q ufena Afimr 3

(ﬁwga?ﬁfuwfe’aaﬁaa’rﬁfuwa
(3) 09 ufenw Afimr ' yas wid 3

4) 78 TESfe HAfior féx ufona
Aty Jet 3

(2] 4
(4) 2

—B

A

........
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108 Ir th? areas of three ndjncent faces ot s
cul\md‘nl box e 120 em’, 72 om? and
60 e respectively, then the volume of the
bon is
(M 720 em’

() 864 cem’
(3) 7200 cm’?
@) (72)cm’

109. A shopkeeper purchased 70 kg of potatoes
for Rs. 420 and sold the whole lot at the
rate of Rs. 6.50 per kg. Then the gain
percentage is :

(1) 4l6% 2 61%
3) 8%% @) 20%

110. Suppose that x + 1 and x + 2 are factors of
the polynomial x* + 3x* — 2ax + B, then
a+pis:

(1) =2 @ 1
(3) 0 4) -1
111. Study the following bar graph :
F 60
= 601
[=]
s aid i a5
=
S 401
£ 301 25
g ot
% 101
nf 0] 1995 1996 1997 1998
— Years —
What was the percentage decline in the
production from 1997 to 1998 7
(1) 333% (2) 30%
@) 35% (4) 25%
PAPER.|

(21)

L

108,

109.

110.

111.

E% 3) 35%

B
vy (Wa wixvory ot @ Pin #re &t
N O ey 120 yohtz,
1 NMad wt a0 Wohitzd an, 3
san o nefrgs
(1) 720 Fehitza’
(2) 864 ¥ehiza
() 7200 Aéhitza’
41 (12) Aehied’

fWa vaserg 3 70 faB »g 420 Ju2
g w2 w3 AT &2 6.50 JUB Y3t

B 2 form @ 29 fEFr, feg &3
yfspz 3 :
(- 4L% @) 61%

(3) 81% (4) 20%

s ®8 fa x + 1 ™3 x + 2 "EIUT
Y+ 32 — 2ax + B © I9d T, fed

a+pJ:
) -2 2 1
@ 0 @ -1
st '3 79 e e nifods &9
"_E\ 60
§ %7
§ 50T 40 4s
S 40¢
E 301t 25
5 1
g’ 104
E 5
| 1995 1996 1997 19598
— Years —
1997 3 1998 T Q3ues fo'g faait
Y3tz fagree nret ¢
(1) 33%% () 30%
(4 25%
P.T.O.




112

113.

114.

115.

116.

117.

A child studving i Clase 1V exhibits

diMiculty in reading, recopni
telling time, mensuting €1c.

difficulty is named ns

zinf patterns,
This learning

1)) sufYering from dyscalculia
(2) suffering from dyslexia

(3) suffering from dysgraphia

4) suffering  from attention  deficit

disorder

If a ray stands on a line, then the sum of

two adjacent angles is :
(1) 90°
(2) 30°
(3) 360°
(4) 180°

Out of the following, the language of

Mathematics is :
(2) National

(4) Vedic '

(1) Symbolic
3) Complex

The digit at unit's place in (2467)'7 x

(341)"is :
(1) 1 @ 9
3) 7 4) 8

"Mathematics is the language in which God
has written the universe" is the statement

given by :
(1) Galileo
3) B. Russell’

(2) Locke

(4) Lindsay

The least value assigned to * so that the
number 86325 # 6 is divisible by 11 is:

(1 1 2) 2

3) 3 @ 5 :

PAPER-I

(22)

b

12,

113.

114.

115.

116.

117.

B
A iner e ey o w9 § UEE, rzast

§ viaran, it e, ynex offe fe'g

Mrerm woedt N forpe fines & e =

a0 i faour 3

(Y famdmasinr 3 1ita3

2y f3mdartmr 3 Utz

(3) famardnr 3 \t73

(4) fiows urer fearg 3 W13

Sag forw fags fea 3w '3 udl = 3,
gt EaetaE T AT I

(1) 90°

(2) 30°

(3) 360°

(4) 180°

famf&ta?fe’é‘,arfézﬁwi’r:

(2467 x (341" fes feqret € AES
ma J -

(1 1 2 9

@) 1 @ 8

e @UW%W@’HW

gfors % fafemr 37 fam oM@ fe
i s 3 2

(Hm (2) 3

(3) Ht. IS 4) fésm

+ & fooues fomaH e Tl O
ssszsw,nw{é@ﬂzﬁﬂa:

(1 1 (2) 2

3) 3 4) 5
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porrecl OPUON whyjg), M. Choose the
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c‘-\\-ﬂ\‘d by varioug Rameg

Badminton

Cricket

(1) Cricket : 180°, Tennis

. 600
Badminton : 30°, Footbal : 3¢°

(2) CriCket . 900, Tennis ¢ 600
Badminton : 120°, Football : 90°

(3) Cricket : 180° Tennis : 60°,
Badminton : 60°, Football : 60°

(4) Cricket : 180° Tennis : 30°
Badminton : 60°, Football : 90°

119. A man took a loan from a bank at the rate
of 12% per annum as simple interest. After
3 years, he paid Rs. 5400 as interest only.
The principal amount borrowed by him is :

(1) 2000 (2) 10000
(3) 15000 (#) 20000
120. The angle made between the hour hand and

ime
the minute hand of a clock, when the tim

is12:30is:

(1) right angle
(2) acute angle
(3) obtuse angle

119,

120.

B

firar fowe it gz Bra am\ 2
- (el sonrar e gt
wagt & wanQer Yo gl framu gz
-2t enrgr awa A3 azt g

fonr@er &

Tennis

Cricket

(1) fqee : 180°, 2fem : 60%
fsfites : 30°, T2Ts [ 30°

@) fgge : 90°, <2fem o 60%
azfiles : 120°, T<8® @ 90°

@) fgae @  180° 2fsH : 60°,
Fsfifes : 60°, TS © 60°

@) fgge : 180°, 2f6R @ 30
#sfiies @ 60°, TS 1 90°

fig fenast 3 fFx &' 3 Fuds fei™

o 12% A& ©f € &8 o [enfT]

3 et gme 8F ¥ 5400 guE I feniH

o e o131 8F nfar QU BET AIET

HY IaH T :

(1)-2000 (2) 10000

(3) 15000 (4) 20000

wFt ¥ ufer Jg »ix fife Jg @ fesag

gfent A=, AT AHT 12:30 Jev J :

(1) AHAE

) fs8s 3=
(3) rifua a=
4y fror a=

~9 straightangle __——

PAp ER.|
7

P.T.O.
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PART-VIERN

121, The farmers first prepare theit l-'.rh.lc 10 SOW 121, Ooez vttt tire Rt e g iy F4nT
the seeds. Por this, they dig the f‘"'- loosen aae ax oy m Qg A nf';f.f a5,
it and make it soft. This process is called : sy s} arawr s med ol e L
a5 fem yfafior § far .'n-.rrJr b}
n Cultivation (2) Ploughing (1) am3 Q) T T
(3) Grooving (4) Mincralization (3) aaféa () ufataTs
122. The objective of a scheme, launched by 122, ¥eg magarg o 1975 €9 qq A
central government in 1975, was improvement st fra Gerer @ 3R I unz
in nutrition and health of children. The w3 firgz iy gua ) fd et 1ICDS
scheme was ICDS which stands for : i frrrrer wae 9
(1) Intelligent Child Development Scheme (1) féedm ofems Sz P
(2) Integrated Child Development Scheme () feddds gfrws 3TBUHT ASTH
(3) Integrated Child Development Services 3) s gfess ITBUHC AISAA
(4) Imperative Child Development Services 4) fafes ofess IzIUAC AISIAA
123. The following food sources contain iron 123. JI58 IHG fazt feg weds I T A
that is essential  for formation  of Hedt AT feg JHIBES g=@s B!
hemoglobin in human body : Agdt der 3 ¢
(1) Pulses, nuts, beans and apples (1) T, AL, =Eit i3 AT
(2) Milk, egg, fish and green vegetables @) €T, miET, H w3 TImT
(3) Sea food (3) miedt 376
(4) Orange, Tomato, mango and papaya (4) 3T, THCT, wig W3 WS
124. The Bhabha Atomic Research Centre 124. 3T UIHE mo aed (BARC) T HY
(BARC) is headquartered in : Te3qd fEa 3¢
(1) Mumbai (2) Nagpur (1) Heet (2) dOd
(3) NewDelhi ~ (4) Lucknow @) & fed @) w58
125. The 3 R's for solid management are : 125. ®F yHUs et 3 fd I&
(1) Reduce, Reform and Recycle (1) fesgm, foerar 3 FAEES
(2) Reform, Redesign and Recycle (2) fasman, fofsrrfes w3 FAAESS
(3) Reduce, Reuse and Recycle @) fosgm, fogr 3 AAEtES
(4) Reuse, Reproduce and Recycle 4) fogm, foudsan »i3 FRETS
126. Deforestation leads to erosion and erosion 126. Harst & aecEt Fe3t T A9 gee |
leads to loss of life or : ﬁaﬁﬁwwﬁmwﬁﬁ*i
(1) Pedogenesis ' (1) HECRILL
(2) Weathering (2) WAH
(3) Desentification E (3) HS
(4) Floods and Earthquakes @) 3 3 B
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The Air (l‘n‘\-ominn
pollution) Act wasg frame
) 1974 ()
(3) 1981 (4)

"?d Contrg) of
Fin this yeqy ;
1972

1983

The solid waste disposal hee
issue over past decades. Choo
statement in regard 1o (hjs .

(1) Highly combustible trash
can be incinerated.

(2) All types of hospital waste
dumped in landfills.

(3) City sewage normally
inorganic waste and hence
disposed by landfilling,

ame a plobal
s¢ the correcr

like plastics
S can be

contain
can be

(4) Dumping of solid waste into ocean is
the best solution of disposal.

Peroxyacylnitrate (PAN) and ozone (O;)

are termed as :

(1) Primary Pollutants

(2) Secondary Pollutants

(3) Tertiary Pollutants

(4) Can be called as primary, secondary' or
tertiary depending on their formation
in mesosphere, thermosphere or
exosphere respectively

The roots are of two types like tap roots ?nd
fibrous roots. Which one of the following
has fibrous roots ?

(1) Neem

(2) Banana

() Beans

(4) None of the above

5
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The sequence of population of organisms of
an ccosystem through which the food and
its contained encrgy passes, by eating or
being caten, with each member becoming
the food of a later member of the sequence
is termed as :

(1) Food Chain

(2) Food Web

(3) Parasitism

(4) Ecological Adaptation

Which one of the following does not fall in
the category of Freshwater ?
(1) Lentic or Lacustrine like lakes and

ponds
Lotic or riverine like rivers and

'(2)
streams
Palustrine like wetlands

Brackish water like estuaries

(3)
“4)

The biotic succession on bare rock called
Lithosere or Xerosere has the sequence of
various stages as follows : '

(1) Lichen stage —> Moss stage = Annual
grass stage — Perennial grass stage —
Shrub stage —» Climax community

Moss stage — Lichen stage — Annual
grass stage — Shrub stage —
stage — Climax

2

Perennial
community

grass

Lichen stage — Moss stage —
Perennial grass stage — Annual grass
stage — Shrub stage — Climax
community ¢

€))

Moss stage — Lichen stage — Annual
grass stage — Perennial grass stage—
Shrub stage — Climax community

4)

(26)
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of an ecosystem Je defined as the
rate at which radian enerpy s converted
into inorganic substances by photosynthesis
ot chemo-synthesis by the primary
producers,

(1) Gross productivity

(@) Primary productivity

(3) Net productivity

(4) Proportional productivity

Plants which grow on land are called
terrestrial plants. There are different types
of terrestrial plants. The plants of plains can
be best represented by following cxample :

136.

(2) Deodar
(4) Mangroves

(1) Mango
(3) Cactus

Choose the correct statement of the
following :

(R) WHO:
(S) WWF:
(T) FAO:
(U) UNDP:

137.

World Health Organization
World Wildlife Federation
Food Additives Organization
United Nations Development
Policy

(1) RandS are correct.

(2) OnlyR is correct.

(3) Only T is correct.

(4) AlIR, S, T and U are correct.. . ’

One day, when Anisha's mother was
cooking food, Anisha asked her if she could
_ help her. Her mother asked Anisha to wash
rice in a bowl with water. She then told her

to pour the used water for plants in th.eir

garden, The major reason for which

Anisha's mother instructed Anisha was :

(1) Anisha's mother wanted to teach her
the method of water conservation,

(2) Rice water is rich source of nutrients
for plants in the garden.

(3) Anisha's mother wante
should see and know about
in the garden.

(4) None of these

“ER‘I

138.

d that Anisha
the plants

g
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kA,

Chemobyl Nuclear Disaster oceurred on
26th April, 1986 in

(2) lsracl

(4) Japan

(1) Ukraine
(3) Netherland

Sclect the imcorrect statement from the

following :

(1) The dark coloured humus found in
topmost layer of soil, makes the soil
fertile.

(2) Afforestation protects the soil from
erosion.

(3) Chemical fertilizers are less harmful
than the organic manures.

(4) Overgrazing is one of the causes of
soil erosion.

Birds do not have teeth. They use their
beaks to tear, bite, chisel or Crush the food.
There are different types of beaks. Crushing
Beak is present in :

(1) Pigeon

(2) Eagle

(3) Woodpecker

(4) Humming birds

A teacher was explaining about different
layers of atmosphere in her class. She started
with the lower zone which is immediately
above the surface of earth. The height of
specified layer varies from 8 kilometers at the
poles to about 18 kilometers near the equator
from ground surface. That means Teacher is
discussing about :

(1) Mesosphere

(2) Troposphere

(3) Stratosphere

(4) Exosphere

E
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45.

46.

The major limitation of 'Biomass Encrgy’ is
the production of diffcrent  types of
pollutants to the air because open burming
produces high levels of :

(X) Nitrogen oxides

(Y) Carbon monoxide

(Z) Particulates

(1) Xonly (2) Y only

(3) YandZonly (4) X,YandZ
Which one of the following problems is nor
related to Dams ?

(1) Water-logging

(2) Habitat destruction

(3) Rehabilitation

(4) - Rain water harvesting o

"Most of the natural resources are
unlimited, provided if we use them

Judiciously. Their judicious use will not
- cause pollution and save the resources.

Hence, we need to develop a sense of

judicious use, of such things, in ourselves
. which are obtained from natural resources."

This objective of environmental education

is called as : N

U) Realization of social responsibilities

, (_2) Constructive thinking
(3) Sense of conservation of natural resources

) Educating ourselves and obtaining
efficiency

P“tll
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Which one of the following is mof the

physical component of environment ?
(1 Land (2) Air

(3) Water (4) Plant

Nuclear energy can be generated by :

(1) Nuclear fusion
(2) Nuclear fission
(3) Nuclear bonding
(4) Both (1)and (2)

Diseases can be spread on account of
improper hygiene, vectors as well as
environmental pollution and exhibit a wide
variety of symptoms. Which one of the

following is not correctly matched ?

M
)
3)
4

Cholera : an intestinal infection
Jaundice : an infection of liver
Diarrhea : Loose motion

Plague : a disease spread by Cat flea

that cause stomach infection

A sea breeze blows when the air above land
.......... and air above sea is ............ .
(1) Colder, Warmer

(2) Warmer, Lighter

(3) Heavier, Colder

(4) Warmer, Colder

(30)
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